1. My Name is

SOLULTIONS

2. The vertical line test says that a graph is a graph of a fﬁnqtio_n if every vertical line
passes through the graph atr mosr oncs )

For exercises 3 through 6 answer either "True” or "False" and explain how you
arrived at your conclusion.

3. The graph of a function can never have more than one y—intercegt.
TRLE, o‘l'l-t-iruéuse x:aog would HAVE mon THAN ONE
. rrlsporldiNg valdu ) . o
4, 'The graph of a funccﬁgn can never ﬁav more %han one xX-intercept.
FA\SE , one y valuae CAn B2 ASSAciaTed To mottple.

5. Every line is the graph of a function. * ¥ #2°2<
FALs g, veariceo Limes #rs NaT
6. Circles are never graphs of functions.
| - TRULEZ They yiclate The VerTical ling vesT
‘For exercises 7 - 10, a relation is given in the form.of ordered pairs. Determine the
domain, the range, state whether the relation is a function.

712, 23), (B4, (45, (7)) b Lz Rifz, 1,9,5,2) Function
8. (-14), (0.5, (1,4), (2,3) D> {-")'OJ‘J} B: {345) Funerions

: o _ o ‘ S : : L + A fuNe,
9. (0,2), (1,6), (1,5), (9,12), (10,11) ™ {on,e.lﬂ R:{Z,s;é,un?} ne
X=1 goes To TWo Y valuas

"',) 0/2-} R: ‘E "‘3, "", ';5} FUNC—T.ION
For exercises 11 through 14, graphs are given. Determine whether the graph is a
function and explain your reasoning. :

(10 (3-1), (1:3), (0.5), 2,1) 4 . §_s
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For exercises 15 - 18, determine the domain and range and state whether the relation
described is a function. SR . N

15. Every person is assigned to his or her biological mother. EuneTion “AS
-_DGMEHN T PErseaNS RANGE! eiotogic‘.gp?t. MoTHERS (EVEYY panson 5

only 'one big\l, MOTHER
16. Every mother is assigned to her children. ot A FUNCTION

| DeMAIN. MmOTHANL | g9 THE wli3e: arildrany  STAMOTIER CAN HAVR M OTE . I3
'17. Every word is assigned that are %inerated during a Google search, T=AN ONE ek
C

PomAIN . worde T FANGE: wofds FANCEAT NoT A FUNCTION (ons word

18. Every Hotmail account user name is assigned to the corresponding password. o To
. DOMAND ACCOUNT Crenge: pASSWadD Funerion {(LACH AccounT MAN‘/)
For exercises 19 - 28, let f(x) = 3x -4 and g(x) =x* + x and h(x) = 3. Find the FA>
indic&n—:ed valge. ' | . Pa;;zs‘word>
19. £(2) = 3> -4=(2)
20. g(-‘]_) = C—l).“—[ - @
21. h(-4) = @
22. fla-1) = 3(a-1)-H = : _
23. gx + 1)= LA DEA (AT = Kzt i rxtl = i"}C r 2% 43
| * = -y =36-Y =(32
24, (f.q)3) = Fege3d= £e3%3) = £G2) = 301274 = 3674 D
. ) -2
25. (Feg)d) = Fegud) = F(y*+a)= flzod = 3(20)-Y
26. (Fg)(1) = fequm = £ 2D = Fe2) = 32 =|2]
27. (f-g)2) = jccﬂc,m: fear+z) = fey = 306y -Y = [18)
28. 3f(x) - 2g(x) = 3CBJ¢"'-D _ Z(}L-L-Hé) o

- z
= 9y ~|2 - 2X - 2¥X
= -5t 5 15




29. glx+ 1) -gx) = G&Dz—} Ot D - (.X'L—l-)é) = x"‘+ax~+!+><+l—xz-x :
30. (f« h)(2) = -FCI"\L233= f(;) = 3(3)"’"‘ = 9-Y :.:
31. (gh)(5) = %Chcsb)zcﬂca): 3°%3 =[i2]

For exercises 32 through 39, use the graphs shown below to approximate the
indicated value.

10 f(x)

g
32. f(-10) = (10}
33. g(3) = (3)

34. f(-1) = |=5)

36. g(8) =|-2)

36. (f - gi0) = §£(-D =E5j
37. (Feg)(5) = §C2= [£€)
38. (fFg)(2) = afc-ﬂ o)

39. (f-g)(6) = £(-3) = D

Find the domain of the functions given in exercises 40 - 43.

' |
40. f(x) = 3x-4 Doman

41. fx) = x2 +x-2 Doraairn: iR

42, X-2
) = —— ain RN {_z}
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- For exercises 44 - 47 usé the given graphs to find the range of f(x).
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